‘ Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-4915)\C - Drawings\TX-4911,12,14,15.dwg

POWERED Bvlg
1l

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS TD ' D R = 1 02 1
The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R609 and the 2018 Interational Building
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following
conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required fo be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this

4. drawing.

Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET# | DESCRIPTION
] Typical elevations, design pressures & general notes
Astragal details (Ultimate Fiip Lever)
Astragal details {Ulimate Multi-point)
Astragal details {Ulfimate Huricane)
Door panel details (flush glazing}

Horizontal cross sections
Vertical cross sections
Frame anchoring

(N~ | |WIN

73.94" MAX. FRAME WIDTH

97.94" MAX. O.A. FRAME HEIGHT {INSWING)

©)
4
=
7
3
o
=
O
i}
I
s
=
<C
&
< |
(o]
><
<
=
]
S
|

®

oY

>

AN
1y,
N

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

FLUSH GLAZED

INSWING

+40.0

+50.0

-50.0

-50.0

FLUSH GLAZED

OUTSWING

+45.0

+45.0

-45.0

-45.0

P.O. Box 230 Vairico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

ENDURA
PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

LFS
BY

11/10/211UPDATE TO 2018 IBC/IRC CODE

1

REVISIONS

NO.) DATE

DATE: 11/8/18

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX—4915

sHeer 1 oF 8

© zo018 R.W. BUILDING DONSULTANTS IND.,



SON] SANVLINESNDOO gNIaung ‘'m's8 gL oz @)

ZS8Li—d # NOLLVNISIONY 40 3LvOl3lLM30 SNOISIATY

SHIINION TVNOISSI40Nd 40 QuVOE SVX3L Qmm@w%b&ﬁ?w&@mma I 3Va_TON] o 8_

L616'659°CL8 1ON SUOg S41] 3000 ddi/98l 810z OL 31vddn|iz/ot/ii] 1 || 512 ©
S8SEE “Ii SOMIDA OEZ X0@ 'Oy \§ KIENASSY 0 L[ovd o = =1 Q &
"ONI ‘SINVLIINSNOD ONIGTINg @ = NEN 2_

~—— = s I3 >
£ZIPOL# "3'd Swxal VANAN3 I M BEF g
“F'd WPIWYDS ‘4 uopukq :Ag peJspdedd sSjUeWNDOQ 110Na0Nd = m W M m M

WOLILOg

~

[ 1 [ _w ™1 [
1y

|

225" —’-I -

26.0"

1.75" —=|

35.5" LATCH

41.0" DEADBOLT

e :wﬂ.—.

WS9'T

33.75"
— 48 Oll
52.0"
60.0"
63.0"
76.0"
93.75"
ANCHOR SCREW LOCATIONS
mmym
HARDWARE LOCATIONS '
1.82"
0.063" — [a—
4
é i 1
Astragal Section

e = =
I —] 175"
—7.5"

dOl

"\ (2)#6-32 X 5/8" MACHINE SCREWS

Upper/Lower Bolt Actuator Lever - Zinc
(2)#8 X 1-1/2" PFH WOOD SCREWS
[2}#8 X 1-1/2" PFH WOOD SCREWS

PFH WOQOD SCREWS

(2)#8 X 1-1/2"

(2)#6-32 X 5/8" MACHINE SCREWS

Lower Bolt Sleeve - Aluminum
ULTIMATE FLIP LEVER ASTRAGAL

T~ Aluminum Body

A

N

Upper Bolt Sleeve - Aluminum

BMP'SL L2 'L LEP-XJASBUIMEId - D\(SLEY-0L6¥) 100p D4 0idiseld Z1D ysnid L20L-¥d - IaL\sui Jo 1dag sexa] - G\LNINVNY3d eInpua\susidD\Z



Upper Bolt Sleeve - Aluminum & ]
4.,:g$? § g & o
g n h@ O M o T
W o z d. 8 E .
2 s 205 25
e 1 TS
i 4 g a > ,’s @é
| Z2go &0
i i 3 Y] . 2O
- S
| %, [&] z
'lj @'J} | 3 28, by
0 2N & d45 o
i ! <|‘] t (2)#8 X 1-1/2" ® Rok %E
. II l ~ PFH WOOD SCREWS : = = ; § gé
IR : g
' Upper Lafch - Reinf Resin | |- )\ % @ ©
(2)#6-32 X 5/8" MACHINE SCREWS a
f {4)#8 X 3" PFH WOOD SCREWS
o 630" =
O 760" S =g
| = . = i
g 93.75‘ - o § . Q':j
@ 2 |3 ==
ANCHOR SCREW LOCATIONS & |3 S
Upper Latch Lower Latch 7 %‘3‘
Lafch Actuator £ ; <5
teel Q o =2
= B & S e 8 5.;.
T TOT IO T ——————————————————————————————— e—————————————— o <C
g H—— ] _75" ].75" _-’[ [~ 7 Sn o o
’ >
7.5 26.0" bl
35.5" LATCH by
| 41" DEADBOLT 3
1 Upper/Lower Bolt Actuator Lever - Zinc HARDWARE LOCATIONS 8
l A (2)#8 X 1-1/2" PFH WOOD SCREWS NEZ
) -
el {2)#8 X 1-1/2" PFH WOOD SCREWS o 8
; Lower Latch - Reinf Resin 182 ' ]| el
i [a
5 2
L
3 T Aluminum Body g
n :
i - N
I S
& (2)#6-32 X 5/8" MACHINE SCREWS . NE
/ 7o) =
ll N o
L~ :‘E s
0.063" —— [=— - pATE: 11/8/18
Lower Bolt Sleeve - Aluminum / SCALE:  N.T.S.
DWG. BY: MT
} , él | CHK. B:.  LFS
ULTIMATE MULTI-POINT ASTRAGAL | = DRAWING N0

Astragal Section TX—-4915

SHEET 3 oF _8

Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-1021 Flush GLZ Plastpro FG door (4910-4915)\C - Drawings\TX-4911,12,14,15.dwg

© zo18 RW. BUILDING DONSULTANTS INC.




‘ON| BLNVLINSNDOO SNIgTHNG M’ 8102 (@)

ZS8LL—4 # NOLLVHLISIOZN 40 IIVOLILLNEO SNOISIATY -
SHIINIONI TYNOISSZION 40 AuvoE SWXIL (INVOINH ALYALLTN) A8 dLVa [ONfeg| | ©
STvL3a 1vovalSy SI1|_3d00 0di/o81 8102 OL 3ivadn[iz/ot/bt] bt | |u|5|f] ©
B S g o XTANISSY 90 Lavd NI
§65EE 14 OSMIPA 0£Z x°8 'O'd \H\wg. =z g
"ONI ‘SINVLINSNOD ONIGTINg = £l s = _vw 4_
. =z
£ZIYOL# ‘3'd SvXaL VY4NAN4 g w S|y W &
‘A'd IPIWYDS 4 uopukl Ag pespdesd sjuswnsog 10NaoNd SI1SI1EI518 5
[ 58]
>
o
2 Y
[
= o
-
= P .
T < O W - W@Z€0 I‘vﬁ TI
O o <z N [
=
T 3
Gaannwn o —_ o muV
woLog 3 = - I I
= <9 ~~ Sl=
Q e ol
_ - ot P Jle
X = @ . )
O Q= in =
. o0 o~ [7¢]
M :m O .Il..'h
[%¢]
= g
m W e
T b
& >
> xR
o0 B
e
0
Y91
[3p]
23
Z 0
=
25 ar
1) < < =)
=z =
Q 2 i
< ©) 2
O | = <
O . -
= Q <
ot O o
% Ry <
oc [2°4
3 < 5 S
oc =z < — <
o 2 = Q
T <
Q < =2 od
Q T Z 5
< v = <
£ 8 = i \
z & < ™~ « M
< = £ Q
b O + M_ =
[2'4 [~a] 274
5 00w / 2
0] a F T
& 7 3 e
S 3
=
59T >
T
g
za W
N 55
LA
- =< 0
Q
* £0
= =
. W S
o E
&3
=e ~ =
Qe g <
x b 3 O
o, = <C
o o o2 o
= & —
= (%)
S <
T o 2 g —
o= = o pd
.. Lit wi
D o2 > W A
23 = &)
=8 2= oc
# O X% mlu.un
]F z WM
) ox -
- LLl
[T—
=
= L = L
-

BMPSLYLZL'L Ley-X\sBumeld - D\(SLEY-0L6Y) 100p DI oidiseld 719 Usnid L 20L-¥a - IQL\su] 40 daq sexa] - A\ININYYId einpudisiudid\z



Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-4915)\C - Drawings\TX-4911,12,14,15.dwg

0.78" INTERIOR 12"

. X |
STILE CAP ~” A
PVC
(PVC) EXTERIOR
STEEL REINFORCEMENT

@ HORIZONTAL CROSS SECTION
5

35.75" MAX.
PANEL WIDTH
26.25" MAX
D.L.O. WIDTH
553 Y2ZGLASS
BITE —  5/8"NOMINAL GLASS THK.
INTERIOR
| 1/8" TEMPERED GLASS
_ N S ARSPACE
8 =& ~i~—_1/8" TEMPERED GLASS
as 29 /10 |
g 2% 7 &/
=g J09° SILICONE GLAZING
oz RJ EXTERIOR
Q< a ERTERIUR COMPOUND
w
o~
G1)-GLAZING DETAIL
Flush Glazing

b

PLASTPRO
Flushglazed
[Fiberglass)

TOP RAIL f"f_
(PVC) ™
oy
I/4
//
o
FOAM CORE o
(POLYURETHAW -
L 4
/4
INTERIOR

0.090" FIBERGLASS

1.18"

SKIN
-
/4
r
BOTIOM RAIL o
(PVC)  NI————

m VERTICAL CROSS SECTION

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

EXTERIOR

\&/

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9187

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
PART OR ASSEMBLY:
DOOR PANEL DETA

PRODUCT:

LS
FLUSH GLAZING5

(

LFS
BY

REVISIONS

11/10/21|UPDATE TO 2018 IBC/IRC CODE

NOJ DATE

1

baE: 11/8/18

SCAE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX—4915

sHEET 5 ofF 8

© zo18 RW BUILDING DONSBULTANTS INC.



—_ 2X FRAMING
i o< (G>=042)

EXT. SHEATHING \ i / DRYWALL
L 410X 2.5" PEH

L1 WOOD SCREW
[ »d 00

1/4" MAX,

SHIMSPACE ~ ~__f

0.15"
C'SINK
(TYP)

ui

DOOR PANEL —\
\— HEAD

ENDURA WEATHERSTRIP
(QEBD/PE 650)

EXTERIOR W INTERIOR

PP

3"\ VERTICAL CROSS SECTION

w Outswing shown - inswing
also approved

1/4" MAX.

0.15"
SHIM SPACE — CSINK
EXT. SHEATHING 7 ‘l (TYP.)

> rd i
s = .
o A4 o

.t o A—

2XFRAMING B2

(G >=0.42) \

¥, #10 X 2.5" PFH WOOD SCREW
—

— JAMB
ENDURA WEATHERSTRIP

P

(QEBD 450)
EXTERIOR

1/

DRYWALL / /
#8 X 2.5" PFH WOOD SCREW

#8 X 3/4" PFH SMS

\ INTERIOR
#8 X 1" PFH SMS

4"HINGE

/ 1"\ HORIZONTAL CROSS SECTION
w Inswing shown - Ouiswing also approved

A\

// I
V4
|
X
\ ]
|
a |

WEATHERSTRIP

N

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

| DEADBOLT: KWIKSET SIGNATURE SERIES

(980/985)

| LATCH: KWIKSET SIGNATURE SERIES

(991)

CORNER PADS [TYP.)

ULTIMATE FLIP LEVER ASTRAGAL

ULTIMATE MULTIPOINT ASTRAGAL
ULTIMATE HURRICANE ASTRAGAL

/ DOOR PANEL

M

#8 X 3" PFH WS
#8 X 1" PFH WS

/"2 \ HORIZONTAL CROSS SECTION

NCY

P.O. Box 230 Vairico FlL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

ENDURA
CROSS SECTIONS

HORIZONTAL

PART OR ASSEMBLY:

PRODUCT:

LFS
BY

11/10/21{UPDATE TO 2018 IBC/IRC CODE

1

NOJ DATE

bate: 11/8/18

scale:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX—4915

SHEET 6 oF _8

ZA\Clients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-4915)\C - Drawings\TX-4911,12,14,15.dwg

REVISIONS

© 2018 R.W. BUILDING CONSULTANTS INC.




Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-4915\C - Drawings\TX-4911,12,14,15.dwg

A\ \\ ANy,
INTERIOR EXTERIOR INTERIOR EXTERIOR NOURA AN
"5‘“ {5.»*".3 = N
| —~DOORPANEL DOOR PANEL WEATHERSTRIP /. DOOR PANEL EASSREY
INTERIOR EXTERIOR I R o T
ENDURA \ (QEBD/PE 650),  NTERIOR S ” 2 ) 1958
ENDURA = A
DO%[; é_\gEEP L ENDURA._ WEATHERSTRIP,  INTERIOR EXTERIOR[S 51 P\ i 15
(DBK-R) (QEBD/PE 650) Pt igiT
(DBK-ZAC) B, 181
WXsmaiZ s
\ 221}_{%‘ ::E N
DOOR Vit
PANEL

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION
\7/ Inswing Adjustable Threshold

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4' DeWALT OR ITW CONCRETE SCREW

/" 2"\ VERTICAL CROSS SECTION

\7/ Inswing Articulating Threshold
w/ Pin Capture

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR [TW CONCRETE SCREW

/ 4\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/"3 VERTICAL CROSS SECTION
W Outswing Bump Threshold

W Qutswing Bump Threshold

P

2 INSWING ADJUSTABLE THRESHOLD 3
IAI4565FN

MAX. DESIGN PRESSURE = +40/-45 PSF

4.56" ! 1 4.56" !

INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
ZAIAA4565FN ZAI4565RDS

MAX. DESIGN PRESSURE = +40/-45 PSF MAX. DESIGN PRESSURE = +40 PSF

4.56" !
INSWING ADJUSTABLE THRESHOLD 4

| 456 .
1 INSWING ADJUSTABLE THRESHOLD

LAIL4565
MAX. DESIGN PRESSURE = +40/-45 PSF

IAILAA4565
MAX. DESIGN PRESSURE = +40/-45 PSF

uj
aq
oo
83
Eg o
£® 0
[ 5]
l/)u.! )
.o ~
L. dm
:g ;
o o
p32 0 O
c )
2 5@
>
om
0
™
x
o
o
[#]
0.

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

in in L 2
e i MR ] 3
! 4.56" ! '; 456" *! 4.56" ! L———*— 4.56" ———‘—’-l
s INSWING ARTICULATING THRESHOLD 7 INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD
IACL4545 ZACA565FN ZACLAA4565 ZACAA4565FN ZACA4565RDS
MAX. DESIGN PRESSURE = +40/-45 PSF MAX. DESIGN PRESSURE = +40/-45 PSF MAX. DESIGN PRESSURE = +35 PSF
b Al & R (S b Al D
2 3 E&ﬁ[ 5 B{% L
1] i f i
! 4.56" —'[ ! 4.5¢" i ! 4.56" ! ! 4.5¢6" !
1 OUTSWING THRESHOLD 12 OUTSWING THRESHOLD 13 OUTSWING THRESHOLD 14 OUTSWING THRESHOLD
ZOBL4565 ZOB4565FN ZOBA565RDS FOB4566

v
=
=]
S
iy
73]

<
[a%4 wn
2 38
x
-l m
] s O
@
o

s x

S of &
=

o =

el |E

o o

o=
Ll
Ly
Q
o)
5
&)
4
o |
o |z
o]
i I 75}
= 12
] @
o
e
i
0Q
a
)
N
L
Sl=
§<
) 't
=
e
zZ

baE: 11/8/18

scae:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:

TX—4915

SHEer _ 7 oF _8

© z018 R.W. BUILDING CONSULTANTS ING.



- uj
g L2 2X FRAMING (BY OTHERS) n&}%\:ﬁﬁfk‘uz n.é’
¥ 8 & S F # at 3 § 0 % B
¥ 9 5 ” ¢ & Astragal Strike Plate 5’:}3&;'-"‘ % %* § ¥
5 O S N —~ @ Head Jamb i 15 nd I OF
¢ e (mve) . *l (e ESY ) 13 ct 2, 80
2 Lh T -
| o) % = S YL T
| SEE HINGE T R T I ! = (N P r}ﬁi' 28 : 5 ’:_;g $8 DR
T DETAIL 1 ‘\_ T N G i b g7 UF
i o o
y f #10X 2.5 PFH DETAL 1 . AN le{fj&i\;@& S8 ES
b WOOD SCREW Lo O #10 X 2.5" PEH WS = 3 93% s,
& (TYP. @ HEAD E § 9.8 4O
AND JAMBS) DETAIL 1 £ Rok g%
5 - ‘ \ : X E
S 5 o 4
B H %#sz-uz" PFH WS : x és
o T L 8
= e ————Q " —® - .¥
§ #8X1 PFsté:. e~ #8x3/4"PrH Ws
1 4" X 4" HINGE o
BE \ =
S
- HINGE DETAIL 1 £ |43
d
DETAIL2 OR 3 ‘ \ & |2 »
% | #8X2-1/2'PFH WS 8 3
E‘ * Y o i
\ o | 3“/ S &
: 7] . o L|ley =) =
I I R . #8 X 1"PFHWS 4,:' o ;‘§§ #8 X 3/4" PFH WS g %
'\\__ " "
/ I #10 X 2.5" PFH WOOD SCREW 4" X 4"HINGE o>
4" (TYP.) - " " \‘ —|@
' - 2'(TYP) ITW CONCRETE SCREW H 1
HINGE JAMB ¢ (TYP @ SILL) INGE DETAIL 2 S
QO
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME Al;&: HORING %
CONCRETE {MIN. 3000 PSl) 2 2
WOOD (G >=0.42) © %
* . . 8 El
NOTE: This anchor required for D.P. > 40 PSF. ol |
=
i
CONCRETE ANCHOR NOTES: ; ] S
1. Concrete anchor locations at the cormers may be adjusted to maintain the min. 3/16"X2-:3/4 ITWO(;ONCREIE SCREW ASTRAGAL PIN CAPTURE 5
edge distance to mortar joints. " N
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to #8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP) S B
maintain the min. edge distance to mortar joints, additional concrete anchors ASTRAGAL STRIKE S =
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. PLATE @ SILL 1/2" DIA. HOLE (IN CAP) =
3. Concrete anchor table: \ - %
= o\ ® S @ . o o oaTe: 11/8/18
: = = scale:  N.T.S,
. £ e
DeWATT — V/2 DIA-HOLE peray 2 DETAIL 2 DETAIL3 L
" n H | i 3 —
ULTRACON+ 1-3/ 1 Outswing nswing Inswing IX—4915

sHEer 8 ofF 8

Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-4915\C - Drawings\TX-4911,12,14,15.dwg

© 2018 R.W. BUILDING CONSULTANTS INC.



